Theorem C: If iwo parallel lines are crossed by two intersecting lines, then two similar friangles are formed.

Mote: The statement is deliberately vague, as there are two situations.
The proofis similar, but different facts are used.

Proof: Let A2 and CD be parallel lines, and suppose that 7 and i are interse
lines which transverse 45 and CD. Let X be the intersection of ' and 1. The two
X lies between A2 and CD, or X does not lie between A2 and CD.
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Assume first that X lies between the lines A2 and CD. Let E and F be the intersections of m and n respectively, wit
Let G and H be the intersections of m and »,respectively with CD.Usingn as a transversal to 42 and CD we
<XFE=<XHG, by Theorem 2(a). Similarly, using m as the transversal, <XEF=<XGH. Finally, by
XF=<GXH. So, by definition, AGXH~ AEXF.
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Now assume that X lies outside the lines A8 and CD. Let E,F,G, and H be as before. Usingn as a transversal and CD
we have <XFE=<XHG, by BF 5. Similarly, using m as the transversal, <XEF=<XGH. Finally, <EXF<<GXH, so by
definition AEXF~AGXH. QED
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